
3/4" SHEATHING - SEE

GENERAL NOTES - TYP.


2X8 FRAMING @ 16" O.C. ON

LUS28 HANGERS - TYP.


DOUBLE 9-1/4" LVL ON

HUCQ410-SDS HANGERS - TYP.


7 1/4" LVL LEDGER

FASTENED W/ (2) 5/16"Ø X

5" RSS SCREWS @ 16" -TYP.

W/ (6) @ HDR HANGER


LSCZ STRINGER BRACKETS -
TYP.


1 3/4" LVL STRINGERS @ 12"

O.C. / 5-1/2" MIN. DEPTH @

CUT- TYP.


SECTION VIEW


5 1/2" M
IN

.


LS50 BRACKETS @ EACH SIDE OF

STRINGER CONN. - TYP. 

BLOCKING @ EACH DECK &

LANDING - TYP. 

2x8 @ 16" -TYP PLATFORM

FRAMING


LUS28 HGR -TYP @ 2x8

PLATFORM FRAMING


7 1/4" LVL LEDGER FASTENED

W/ (2) 5/16"Ø X 5" RSS SCREWS @

16" -TYP.


1 3/4" LVL STRINGERS @ 12"

WITH 5 1/2" MIN DEPTH @

CUT - TYP


LPCZ HGR -TYP @ STRINGERS


LSCZ HANGERS @ LVL

STRINGERS -TYP


DOUBLE 9-1/4" LVL ON

HUCQ410-SDS HANGERS - TYP.


2x8 @ 16" -TYP PLATFORM

FRAMING 

LPCZ HGR -TYP @ STRINGERS


7 1/4" LVL LEDGER

FASTENED W/ (2) 5/16"Ø X 5"

RSS SCREWS @ 16" -TYP.


LUS28 HGR -TYP @ 2x8

PLATFORM FRAMING


PLAN VIEW N.T.S. 

FRAMED SHAFT WALL


10" CIP WALL - SEE S1.1 FOR

TYPICAL REINFORCEMENT


12" SLAB ON GRADE/

FOOTING W/ #5 @ 10"

EACH WAY @ MID-
DEPTH -TYP


W8x31 HOIST BEAM IN FULLY

GROUTED CELL @ ELEVATOR


4" SOG, SEE PLAN -TYP


L6x4x5/16 (LLV) W/ 5/8"

DIAMETER X 4" W.A. INTO

GROUTED CELLS @ 16" @

DOORS, SEE ELEVATOR

SHOP DRAWINGS


THRESHOLD BY ELEVATOR

MANUFACTURER -TYP 

8" CMU ELEVATOR SHAFT W/

#5 VERTS IN GROUTED CELLS AT

CORNERS, JAMBS AND 32" MAX,

STD DUR-O-WALL LADDER

REINFORCING @ 16" AND

HORIZ. BOND BEAMS W/ (2) # 4

CONT. @ 8'-0 MAX. AND AS

SHOWN-TYP


FILL AND LEVELING PLATE,

SEE ELEVATOR SHOPS


SEE GENERAL NOTES

FOR LOOSE LINTELS -TYP


GRADE BEAM AT

BEARING WALL


2'-8" X 2'-0" #4

HOOKS @ 16" O.C.


#5x48" CAST-IN DOWELS

W/ 24" EMBED SPACED TO

MATCH CMU VERT REINF.

@ GROUTED CELLS - TYP


1/2"X8" ANCHOR BOLT @ 48"

O.C. - TYP


ELEVATOR SUMP PIT


ROOF DECK - 2X10 FRAMING

@ 16" O.C. W/ (2) 2X RIM, OSB &

GYP SHEATHING PER ARCH.


SIM. DETAIL AT

STAIRS WITH OUT

ELEVATOR PIT &

HOIST BEAM - SEE

PLANS TYP.


SEE PLANS FOR

OPENING LOCATIONS -
TYP.


2" LEDGE AT SLAB POUR -
TYP. @ ELEV.


VERIFY W/ ARCH. TYP.


SEE PLAN


FLOOR FRAMING PER PLAN


SEE GENERAL NOTES

FOR LOOSE LINTELS -TYP


LVL LEDGER ANCHORED

BOND BEAM GROUTED

CELLS PER PLAN


P.E. FLOOR TRUSSES PER

PLAN


10" SQ. X 3/4" THICK

BASEPLATE & (4) 1/2"Ø X 8"

WEDGE ANCHOR INTO (N)

FOOTING


FOOTING PER PLAN


GRID 

3/16


WIDE FLANGE BEAM PER

PLAN W/ 2x TOP PLATE

FASTENED W/ (2) .158"Ø P.A.F.

@ 24" O.C.


1/2" COMPRESSIBLE JOINT

MATERIAL


1/2" THICK CAP PLATE W/

(4) A325 BOLTS - TYP. 

3/4" FLOOR SHEATHING PER

GENERAL NOTES - TYP.


2'
-0

"


COMPACTED SAND BED

OVER FOOTINGS - TYP.


FIRST FLOOR FRAMING PLAN

75'-0"


4" SLAB ON GRADE W/ 6"

THICKENED SLAB POUR

OVER CIP WALL - TYP.


4'
-6

" 

12" SQUARE X 5/8" THICK BASEPLATE

W/ (4) 3/4" DIAM THREADED ROD W/

DBL NUT SET 12" MIN. INTO PILASTER


600S-250-54 METAL STUD PURLIN (HDG)

@ 12" O.C. W/ 4" BLOCKING OVER

CURVED BEAM FASTENED TO HSS W/

(2) #10 TEK SCREWS - TYP.


(2) LAYERS OF 3/8" SHEATHING WITH

ROLLED WOOD GLUE BETWEEN & WINGED

FLAT HEAD #10 TEK SCREWS @ 6" - TYP.


GALV. ROLLED HSS8X4X1/4" SEE

ARCH FOR RADIUS W/ 1/2" END

CAPS - TYP. 

(2) ADDITONAL VERT BAR

W/ 8" HOOK INTO

FOOTING


SUBGRADE

IMPROVEMENTS - PER

GEOTECHICAL REPORT -
TYP. 

#4 TIES @ 12" O.C. @ POST

ABOVE


FOUNDATION DRAINS &

VETNING BY OTHERS


HSS COLUMNS PER PLAN

W/ 1/2" CAP PLATE - TYP.


3/16


NOTE: ALL EXPOSED WELDS TO BE

BLENDED GROUND & COUNTOURED

PRIOR TO GALV.  - FINISHED TO

HIGHEST AESS GRADE


ANCHOR BOLT PER PLAN &

SECTIONS


4" CONC SLAB - SEE PLAN


HDQ8-SDS3 HOLDOWN W/ 7/8" THREADED ROD W/

DBL NUT OR HEADED ANCHOR ROD24" DEEP W/ DBL

NUT INTO CONCRETE & SDS SCREWS TO TRIPLE 2X

FRAMING AT SHEARWALL


5/8" DIA. ALL-THREAD

THROUGH BOTTOM AND TOP

PLATES - CONNECTION AT

SHEARWALLS. IMMEDIATELY

PRIOR TO INTERIOR FINISHED

RETIGHTEN FASTENERS


HDU5-SDS2.5 HOLDOWN -TYP

EACH END OF INTERIOR SHEAR

WALL UNO


3/4" T&G SHEATHING PER

GENERAL NOTES - TYP.


SINGLE BOTTOM PLATE - TYP.


FLOOR TRUSS BEYOND PER

PLAN


TRIPLE 2X AT SHEARWALL

TIE DOWN CONNECTIONS


TRIPLE 2X AT SHEARWALL

TIE DOWN CONNECTIONS


7/16" OSB SHEAR WALL W/

FASTENING PER PLAN -TYP 

7/8" X 6" TITEN HD @ 24"

O.C. - TYP


2X P.T. SILL PLATE - TYP


HDU5-SDS2.5 HOLDOWN -TYP EACH

END OF INTERIOR SHEAR WALL

UNO.  IMMEDIATELY PRIOR TO

INTERIOR FINISHED RETIGHTEN

FASTENERS


3/4" T&G SHEATHING PER

GENERAL NOTES - TYP.


FLOOR TRUSS BEYOND PER

PLAN


7/16" OSB SHEAR WALL W/

FASTENING PER PLAN -TYP


1'-0"


LSL RIM - TYP.


LSL RIM - TYP.


SPLICE SHEATHING OVER

RIM AS REQUIRED.


BLOCK & NAIL ALL PANEL EDGES -
TYP.  ALL SHEAR WALLS AND

EXTERIOR WALLS.  FASTENING PER

GEN NOTES AND PER SHEAR WALL

NOTES ON PLAN


H2.5a @ DOUBLE TOP PLATE

TO ROOF FRAMING - TYP. 

P.E. TRUSSES PER PLAN


SEE ARCHITECTURAL PLANS FOR

INULATION, MEMBRANE, DRAINAGE,

AND FINISHES AT ROOF.


5/8" ROOF SHEATHING PER

GENERAL NOTES - TYP.


2x PLATE FASTENED W/ (3) 9d NAILS @ 16" O.C.

INTO ROOF FRAMING - ADD BLOCKING AT

CONNECTION AS NEEDED - TYP.


2X4 @ 16" O.C. FASTENED TO VERT PARAPET

FRAMING W/ (5) 9d NAILS - TYP.
2X6 @ 16" O.C. W/ DOUBLE TOP


PLATE PARAPET FRAMING - TYP.


7/16" SHEATHING PER GENERAL

NOTES - TYP.


2X6 @ 16" O.C. W/ DOUBLE TOP WALL

FRAMING - TYP.


.


DIAGONAL BRACING REQUIRED

@ ANY PARAPET GREATER

THEN 1'-4" TALL - TYP. 

4
8
 U

n
io

n
 W

h
ar

f 
  
P
o
rt
la
n
d
, 
M

ai
n
e 
0
4
1
0
1



(2
07

) 7
72

-6
02

2
A
R
C
H
ET

Y
PE

@
A
R
C
H
ET

Y
PE

PA
.C

O
M




D
at

e:



S
ca

le
:


P
ro

je
ct
:


A
rc

h
it
ec

t:



C
o
n
su

lt
an

t:



P
re

p
ar

ed
 F

o
r:



R
ev

is
io

n
s:



S
I#

1
6
-0

2
0
3


A
s 
in
di
ca

te
d



S2.1 


SE
C
T
IO

N
S



27
 D

ec
. 2

01
6



M
ED

IC
A
L 

O
FF

IC
ES




1
9
4
5
 C

O
N
G
R
E
S
S
 S

T
R
E
E
T
,


P
O
R
T
L
A
N
D
 M

A
IN

E



O
w
n
er




 3/4" = 1'-0"
S2.1


M STAIR FRAMING DETAILS @ FRAMED SHAFT


 1/2" = 1'-0"
S2.1 

K CMU ELEVATOR SHAFT DETAIL
 3/4" = 1'-0"
S2.1


J HSS TO STEEL BEAM DETAIL


 3/4" = 1'-0"
S2.1


L CANOPY COLUMN


 3/4" = 1'-0"
S2.1


H SHEAR WALL DETAIL


 3/4" = 1'-0"
S2.1


N PARAPET FRAMING


05/08/17


